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THE WINNING EDGE DEFENCE ACADEMY (WEDA)
SAINIK SCHOOL, CLASS — 6TH
MOCK PAPER - 01 (ANSWERS)

Time: 2 Hrs 30 Min

¥AY: 2 ¢ 30 fA=Te
Sections / THTIT Questions / 9T Maximum Marks / 3f&&dH 3&
Mathematics / 3TfOre 50 50 x 3 = 150
General Knowledge / GTHTT AT 25 25 x 2 =150
InteIIigence/%’{ﬁﬂ'ﬂT 25 25 x 2 =50
English / 3735 OR Hindi / &Y 25 25 x 2 =50
Total / adl 125 300

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates after the completion of the exam.
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SUBJECT - ‘A’ : MATHEMATICS

1. When 30 is multiplied with a natural number and then divided by the same natural number. The
result comes to be -

oIq 30 P! faeft urgp o TRem [ 1o farar S @ 8k fibr It wrepfae T & fawnfora fear
ST &, Y aRome Srar R -

a) 30 b) 60 c) 15 d) none of the above
Answer: (a)
Explanation: Let the number be A
30:/1 — 30
AH oSBT A B
304 _ a4
A

2. MMCDLIX is equal to

MMCDLIX fpa® TRTaR &2
a) 2,549 b) 2,500 c) 2,459 d) 2,561
Answer: (c)

Explanation: MMCDLIX
=1000 + 1000 + 500 - 500+ 50 + 1 - 10
= 2459

3. The sum of two-digit numbers and the number obtained by interchanging its digits is 110. If the
difference between both digits is 4. Find the number.

3 3P} B FRATSHT BT NT 3R IHP 3h| B! TIH A T A UTed 1A 110 B 1 TR SN 3
® o BT 3R 4 , Y =T [ IS

a) 73 and 37 b) 46 and 64 c) 82 and 28 d) 55 and 55
a) 73 3R 37 b) 46 3R 64 c) 82 3R 28 d) 55 3R 55
Answer: (a)
Explanation: From the option (a), 73 and 37 T&&edr &, 73 31T 37
73
+37
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110
So,7-3=4

Now from option (b), the difference of digits is not 4. (37 Td&ed (b) &, 37eh T 3R 4 ?-l'(?f%‘a'l)
From option (c), the difference of digits is not 4. (Td&eq (c) &, 37ehi T 3 4 o‘-l?f%’l)
From option (d), the difference of digits is not 4. (T (d) F, 37T T 3R 4 H’?f%’l)

4. The cost of fencing a square park at the rate of Rs15 per m is Rs3600. Find the area of the square
park.

15 U Yfd Hiex $1 & A T PR UTh P 918 T B ART 3600 TU € | TP UTh BT
ATmd JTd BT

a) 2450m? b) 3600m? c) 1520m? d) 4500m?
a) 2450 91 Hiex b) 3600 T Hiex ¢) 1520 T Hiex d) 4500 7 Hex

Answer: (b)

Explanation: Total fence cost = Perimeter x cost Per m
= 3600 =P x 15

= % =P

P =240

4 x Side = Perimeter

4 x Side =240m

side = ? =60m

Area = 52

= (60)? = 3600 m?

P 1S ANT = TR x AT Uil HieR
= 3600 = P X 15

= (60)? = 3600 m?

5.Find A, if Ax12.5 =1500
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IfE A x 12.5 = 1500 § dY A AT AT

a) 100 b) 120 c) 600 d) 42
Answer: (b)
Explanation: A X 12.5 = 1500
A=20-1%y10=120
12.5 125

6. The LCM of two prime numbers is always their

A AUT TN PILOMTIASTDPI gl e

a) Product b) Sum c) Difference d) Quotient
a) U d b) 1T c) 3R d) HITH
Answer: (a)

Explanation: LCM of prime numbers is equal to their product.
B U -3 BT LM 37 UHHA o SRISR GIdl &
7. Simplify: 2.222 + 22.22 + 222.2 + 2222

Wa’ﬁ' 2,222 +22.22 +222.2 + 2222
a) 2234.739 b) 3444.222 c) 2468.642 d) 3241.523

Answer: (c)
Explanation: 2.222
22.220
222.200
+ 2222.000
2468.642

8. The age of three brothers are in the ratio 1:2:3 and the average age of all three brothers is 52. Find
the age of the youngest brother.

T UTSTT B SITY BT STUTA 1:2:3 § 3R A1 UISAT BT 3N 3TY 52 8 | HIH BIC UTS B Y
I HIfog|

a) 32 b) 40 c) 26 d) 35

Answer: (c)
Explanation: Age of 1°* brother = 1x
www.wedacareer.com
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Age of 2*' brother = 2x
Age of 3*' brother = 3x

sumof allages

Average = 3
1x+2x+3%

52 =
3

52X 3 =6x

156 = 6x

20— x=26
6

Age of youngest boy = 26 yrs

%ﬁlﬂ_ﬁ;aﬁm:lx
W’-I'I’sﬁaﬁﬁl'ﬁﬂx
?‘ﬂﬂ%“—l’l’éﬂ’ﬁ@rﬂgﬂx
3T = ] 31g 1311

3
1x+2x+3x

52 = 3
52 X3 =6x

156 = 6x
156

—_— =X

6

26 =x

HIH BIC 5 T 31 = 26 O

9. Convert the ratio 125:350 in its simplest terms.

SUTH 125:350 B TXAGH =0 H yfkafdd &1
a) 4:13 b) 5:14 ¢) 14:5 d) 13:4
Answer: (b)

Explanation: 125 : 350
125 25 _ 5

350 70 _ 14
=5:14

10. How many stones of 0.48m? can be fixed on a wall of length 12m and breadth 14m.

12 Hiew @t 3R 14 Hier A€ AR WR 0.48m2 P frda TR TITE ST I &7

a) 200 stones b) 350 stones c) 420 stones d) 240 stones

a) 200 IR b) 350 UIR €) 420 U d) 240 IR
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Answer: (b)

Explanation: Area of wall=1 X b
=12 x 14

= 168 m?

Area of wall 168 168x100 2100
Number ofstones=—f—— = =

Area of stone T 048 48 T =350
IR BT QBT =1 x b

=12x 14

= 168 m?

TR} e SR TP _ 168 _ 168x100 _ 2100 _ 55
TRRBT&AHA  0.48 48 o

11. What is thevalueof 5% +6 % -8%
5% +6% -8 % BT HIH FTg?
a)3 % b) 5/6 c)1% d)2%

Answer: (a)
. 1 1 1
Explanation: 5-+ 6-— 8-
2 2 4

_1 1333
2 2 4

LCMof2,2,4=4

_ 11x2 13X%2 33

2x2 | 2x2 4
_ 2242633 _ 15 _ 43
- 4 T4 Vs

5 4+6-—8-
2 2 4

2,2, 4 BT TAHITH. = 4

_ 11X%X2 13X%X2 33

T 2x2 | 2x2 4

— 22+4+26—-33 — 1_5 4 33
4 4 4

12. The cost of 2 cycles are Rs 5500. If Rahul has Rs22000, then how many cycles can he buy?

2 ATl &Y HAd 5500 TUA 31 AfE TG & URT 22000 FUA g, O 98 frat asferd @ile

dpdre?
a)4 b) 7 0)2 d)8

Answer: (d)

Rs.5500 — Rs.2750

Explanation: Cost of 1 cycle =
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Rahul has 22000, so 22000/2750 = 8

1 gTSford 1 dRTd =222290 _ Rs. 2750

2

Igd & U 22000 %, B %IQ 22000/2750 = 8

13. Two crore forty three lakhs seventy is written as
3 PAS Ao arE TR B Rrarsrare
a) 2,04,00,700 b) 2,43,00,700 c) 20,43,070 d) 2,43,00,070

Answer: (d)
Explanation:
C,TLL, Tthth,HTO
243 00 070

14. Find the greatest number that will divide 47, 76, 83 leaving remainder 1, 2, 3 respectively.

I8 YaA 951 QT T PIOTT Sl 47, 76, 83 BT fAHTITT A TR HHT: 1, 2, 3 AT I |

a)4 b) 6 c)7 d)2
Answer: (d)
Explanation:
47 76 83
-1 -2 -3
46 74 80
HCF of 46, 74, 80 (46, 74, 80 shT HCF)

2 46, 74, 80

23,37,40

Ans =2

15. If a square of a number is added to the square of 15, the result comes out to be 901. Find the

number.
Tfe fPd H=n & T @1 15 F it A SireT ST ) URUIH 901 34T 8 | ST JTd BIoQ|
a) 26 b) 24 c) 34 d) 16

Answer: (a)

Explanation:

Let the number be x
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x% + (15)% = 901
x% +225 =901

x2 =676
x =V676 = 26
HHT I X B

x% + (15)? =901
x% 4225 =901

x% =676
x =vV676 = 26

16. Rohan saves Rs.560 and spends 65% of the total salary. Find the total sum of money he earned?

e 560 TUT T & 3R F& A BT 65% W Dl ¢ | ST ol fha- U= ifofa i
a) Rs.1600 b) Rs.2400 c) Rs.3250 d) Rs.4000

Answer: (a)

Explanation: Spending = 65%
Saving = 35%

35% of total money = 560

35 % Total money = 560
100

Total money = 560 X %
= Rs.1600

T = 65%

9d = 35%

Pl YARIIRI BT 35% = 560
= X P YRR = 560
$d YT =560 X —

= Rs.1600

17. Sam sells a chair for Rs.420, he makes a loss of 20%. To gain 20%, he must sell the chair at what
price?

U Th HUT 420 TUA A JTAT 8, I/ 20% BT THATH 81T 8 | 20% ATH FHM & forg 3@ i for
DI U 991 A1ige?

a) Rs.550 b) Rs.740 c) Rs.630 d) Rs.580

Answer: (c)
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Explanation: SP = Rs.420

Loss = 20%

cp:[#_‘l%]xsp

[ 100 ] X 420

100-20

=200 420

80

CP =525

SP =CP + Gain%

=525+ [20% of CP]

=525 +22 % 525
100

SP = 630

faha O = 420 300
g1+ = 20%

CP=[%_OL%]><SP

=[ 100 ]x420

100-20

=299 420
80

SP = CP + @TH%

=525 + [CP &1 20% |

=525 +22 x 525 = 630
100

18. A car covers 360 m in a minute. What will be its speed in km/hr?

TP SR TP e | 360 Hiex o1 gl 00 Bl g | 591 71l feil/der & o it

a) 15 km/h b) 21.6 km/h c) 14.5 km/h d) 20 km/h
a) 15 fpHi/eeT b) 21.6 fopHt/der ¢) 14.5 foHl/ger d) 20 fpHi/eer
Answer: (b)

Explanation: Distance travel by car =360 m
Time taken by car = 1 min = 60 sec

Speed of car = Disfance =30 6m/s
Time 60

6m _ 18 _ 108

S XT T g km/h

=21.6km/h

SATEAT: R EART I HT 15 4T = 360 FHIET
N AR Tl 3T FAY = 1 TAAC = 60 Ahs
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X T 3Tl = G4/FHT = 360/60 = 6 HICI/Hhs
6 HIeT/Ahs x18/5=108/5 foraT/ger =21.6 fhHT/geT

19. Find the angle which is equal to its supplement.

98 DIVT [T BIFTT S U TP & TRIER 2|
a) 45° b) 90° c) 60° d) 75°

Answer: (b)

Explanation: Sum of supplementary angle is 180°
A+ B=180°

Both are equal

A+A=180°

2A =180°

A=90°

R HI0 6T 1T 180° &
A+ B=180°

S RIER 8
A+A=180°

2A =180°

A =90°

20. How much water does a cubic swimming pool contain which has a total surface area of 1014m??

TS TR (i ga # foraan ot @) oar & forast oo yiia eawd 1014 aif Wier 82
a) 1728m?3 b) 3375m3 c) 2197m3 d) 1000m3

Answer: (c)

Explanation: Total surface Area = 6a?
1014 = 6a’

169 = a?

V169 = a

13=a

Volume = a3

= (13)°

=2197 m3

T $ YSI &FBd =642
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1014 =6a?

1014 _ g2
6

169 = a?

V169 = a
13=a
3 dT =a?
= (13)°
=2197 m3

21. Convert 35290 Paise into Rs.?
35290 U &1 U A 9cal?
a) X35.290 b) X352.9 c) X0.3529 d) X3.529

Answer: (b)
Explanation: 35?;30 |

1
=X352.9

22. The whole numbers and their negatives are called

guf Semaif 3k 37 HuneTs B GG

a) Prime numbers b) Natural numbers c) Integers d) Even numbers
a) 3THTST Temd b) MIPfad T&AL ) TUl® d) T G-
Answer: (c)

Explanation: Integers are of three type,

a) Positive integer - all natural numbers
b) Negative integer — all negative of natural number
c) Zero

SAREAT: YUITeh cfiel TehR B 8,

a) YsTTcHeh qUTieh - Fafl TTehfcieh HEATT

b) FHUTIcHeh quiieh - Tl ATehfcieh HEAT & FOTcHH
o) I

23. Which of the following is divisible by 10 and 5?
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fufafaa A G o 10 sk s AfAusa 22
a) 5675 b) 37490 c) 4825 d) 84578

Answer: (b)
Explanation: For any number to be divisible by 5 the unit digit is 0,5 and for any number to be divisible
by 10, the unit digit is O.

ot off Twar & 5 A TA8ToT 8l & oI 3a1S 376 0,5 & 3R fohedT 8ft Iear & 10 & AT 81 & forT,
SIS 3TH 08

37490

Divisible by 10 Divisible by 5
10 ¥ faursy 5 faursa

24. Which of the following comes between 1.5 and 2.5?

Fafafea d a9 1.5 8k 2.5 F S emaT 32
a) 1.25 b) 5 c) 1.67 d) 2.7
Answer: (c)

25. Find the greatest common divisor of 1450, 2040, 1400?

1450, 2040, 1400 BT HETH TTd HTSTP JTd DIToTT?

a)2 b) 6 c)9 d) 10
Answer: (d)
Explanation: HCF 1450, 2040, 1400
2 1450, 2040, 1400
5 725, 1020, 700
145, 204, 140

HCF=2x5=10

26. In a school, there were four bells which rang after a time interval of 6 minutes, 18 minutes, 20
minutes, 24 minutes respectively. If they ring together at 12:00 pm, then at what time will it ring
together again?

T Ipd | IR ufeat A «it wuRn: 6 fire, 18 e, 20 fiFe, 24 fFe & Jwg SievT@ & a1
ot fY | afE 3 12:00 T TH ATY Fo €, Y A b= A for Ty ves A1y Foifl?
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a) 2:00 pm b) 5:00 pm c) 4:00 pm d) 6:00 pm
a) QlUsR 2 5ol b) =ITH 5:00 TS ¢) /M 4:00 Fof d) I 6:00 o1

Answer: (d)

Explanation: LCM of 6, 18, 20, 24 (6, 18, 20, 24 sT LCM)

6, 18, 20, 24

3,9,10,12

3,9,5,6

3,9,5,3

1,3,5,1

1,1,5,1

1,1,1,1

LCM =2 x 2 x 2 x 3 x3 x5 = 360 minute (fAs1<)
360

= = 6 hours (G0C)

60
12 00+6=6:00pm

NI WIW[INININ

27. For class decoration, all the students of class 10th contributed a total amount of Rs. 3721 such that
each student of the class contributed as much money as the number of students of the class. Find the
total number of students in the class.

F&T BT FolTae $ e, Faim 1087 S W ST A Fd 3721 UL ST ACH 4T, THUPR F&TH
TP BT A T&T & DI B GGAT & RIER YRR BT ARG A1 H&1 d S 9t oo G&
T BT

a) 37 b) 73 c) 53 d) 61

Answer: (d)
Explanation: x? = 3721
x =+3721

x =61

28. Time taken to complete work by 5 women is 14 hours. If the number of Women are increased by
2, then how much time will be taken to complete the same work?

5 HigaATST §RT B TRT B  Foran a1 997 14 1 B 1 Afe Aigansi &1 I 2 F 9¢71 &Y o,
Y THT BT R HIA | fha=11 a9 T

a) 10 hours b) 7 hours c) 8 hours d) 12 hours

Answer: (a)
www.wedacareer.com
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Explanation: m; x d; = m; x ds

5xXx14=7Xd;
14

5X7—d2

d2=10

29. What is the ratio between a kg and a quarter of a kg?

T fraim 3R U DT fPaiumd & ot &7 3uTd 1 3?

a)1:4 b) 4:1

Answer: (b)
Explanation: 1 kg = 1000

(Tters) Quarter=$ = 250
1000:250=4:1

30. What is 12% of 15% of 8 kg 500g?

8 fUT 500 TTH P 15% BT 12% FT 22

a) 350g b) 245g

a) 350 UTH b) 245 UTH

Answer: (d)
Explanation: 12% of 15% of 8kg 500g

12 _ 15
= — X — X 8500
100~ 100

= 153g

12% BT 15% BT 8 THUT 500 TTH

12 _ 15
= — X — X 8500
100~ 100

= 1539

c)2:3 d) 3:2
c) 560g d) 153g
c) 560 UTH d) 153 UTH

31. The simple interest at x% for x years on sum of Rs100 will be equal to

100 U B} IR TR x IUT & AT x% B} T A FIYROT TS & SRTER g

a)Sl=x b) Sl = x2

Answer: (b)

PXRXT
100

Explanation: S| =

c) SI=100 d) SI = 100x

www.wedacareer.com




THE WINNING EDGE

— DEFENCE —

__ 100XxxXx

T 100
2

=x
32. A train of 145m long crosses a bridge of 320m in 31 sec. Find the speed of the train.

145 Hiex ddl TH IS 320 HeX @d YA B 31 s A UR Hal g1 ISt Dt A 719
Pifog|

a) 15 m/s b) 21 m/s c) 18 m/s d)7m/s

Answer: (a)
Explanation: Total distance = Train length + length of bridge
Total distance = 145 + 320 = 465
T=31sec
D _ 465 _

S==-=—=15
T 31

S=15m/s

Fel &1 = el T ST + ol I TS
el ol = 145 + 320 = 465
T=318F8 S =2 = 2= 465/31=15 5 = 15 Het/qs

T

33. The angles of a quadrilateral are 110°, 105°, 75° and x°. Find the fourth angle.
TP TgUS & BI0T110°, 105°, 75° 3R x° § | AT HIUT F1d P
a) 65° b) 70° c) 30° d) 120°

Answer: (b)
Explanation: Sum of all angles =360°
110° 4 105° 4+ 75° 4+ x° = 360°

290 + x = 360
x = 70°

g+ BT BT AT =360°

110° + 105° + 75° + x° = 360°
290 + x = 360

x = 70°

34. The length of a plot is twice its breadth, and the area of the plot is 128m?2. Find the perimeter of
the plot.
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TP Wi $I daTg SUD! AISTs A AT g 3R Wile T e 128 ¥ Hlex 71 Wie o1 uRkHM™
T DT

a) 48m b) 50m c) 62m d) 35m

Answer: (a)
Explanation: [ = 2 b
Areaof plot=1X b
128=2b X b
128 _ b2

2
64 = b?
V64 =b
8=b
l=2b
=2X8=16
Perimeter of plot = 2(L + B)
= 2(16 +8)
=2(24) =48m

1=2b
TATE ST 81Tl = Ixb
aIPeT =l X b

128=2b X b
128 _ p2

2

64 = b?

V64 =b

8=b

1=2b
=2X8=16
Wi &1 URHATY = 2(L+B)
= 2(16 + 8)
=2(24) = 48m

35. A cuboidal wooden block contains 36m? wood. If it is 4m long and 3m wide, then find the height?

TP TATHTPR dhS! & b A 36m* dhS! g1 TS T8 4m TET 3R 3m ANST §, oY ITP! HATS
TTd PIfoTE?

a)4m b) 3m c)2m d)5m
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Answer: (b)
Explanation: Volume =1 X b X h
36 =4X3Xh

% _p
12
h=3

A=l X b X h
36 =4X3Xh

% _p
12
h=3

36. Solve: 45 kg 100g-35 kg 50 g

BABY: 45 fHUT 100 UTH - 35 fBUTs50 UTH

a)10kg50¢g b) 10 kg c) 10 kg 100g d) 12kg
a) 10 fuT 50 UM b) 10 f&aT c)10fpur100 9™ d) 12fku
Answer: (a)

Explanation: Now let us take out difference, 37dX AT Hlel T,
45 kg 100g-35kg50¢g

45 100
-35 -50
10kg 50g

37. A tetra pack contains 150ml of juice. How many such packs are needed to fill a jug of capacity 1.51?

TS T 0P | 150mI S &1 1.51 &HAT AT o1 Bt HRA P g X foreaq A 1 sma=aswan gl

a) 8 b) 9 c) 10 d)6
Answer: (c)

Explanation: 1 Pack = 150 ml

1Jug=151

=1.5x 1000 ml = 1500 ml

Number of packs = % = 10 packs

19 = 150 fycht

1W1T=1.5 51 (o

=1.5x 1000 ml = 1500 ml

www.wedacareer.com




THE WINNING EDGE

— DEFENCE —

Tobe &l T == = 10 Udbe

150

38. What is the perimeter of a regular hexagon with side 5 cm?

5 At Yerr ATt v Frafia vey &1 ufvng i g

a) 24cm b) 30cm c) 15cm d) 67cm
a) 24 94t b) 30 T c) 15 AT d) 67 Tt
Answer: (b)

Explanation: Perimeter of regular hexagon =6 X5 = 30 cm
IfHd YUY &1 URAT = 6x5=30 THt

39. Rahul bought 6 kg of rice for Rs 2640. He decided to sell a whole quantity of rice at Rs 330 per kg.
Find the profit or loss percentage.

1§ 2640 ¥ W 6 forell ara@ @ilar| 39 91a@ &1 G °ET 31 330 $UA Ul foveft R 99
BT e foan| ary a1 g1+ wia=ra J1a i

a) 20% Profit b) 20% Loss c) 30% Profit d) 25% Loss
a) 20% <Y b) 20% BT ¢) 30% Y d) 25% g1
Answer: (d)

Explanation: Cost Price of 6 kg = 2640
Selling Price of 6 kg =330 X 6 = 1980

Loss = 2640 — 1980 = 660

660
2640 X 100 = 25% loss

6 fonalT T T HeT = 2640
6 fehalm T TashT Hed = 330x6=1980

Bl -T = 2640 — 1980 = 660

660

40. Simplify: 3 [ % +4/3 (12 x 5 + 5 x10)]
TRAPY: 3[% +4/3 (12 x5+ 5 x 10)]

a) 160 b) 340 c) 482 d) 564
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Answer: (c)
Explanation: = 3 E +2(12%x 5+ 5% 10)]
= 3[§+§(60+ 5 x 10)]
2 4
=3 [5 +2 (120)]

=3[§+“:;°]=3><43§=482

41. The sum of HCF and LCM of 120, 75 and 40 is .
120, 75 3R 40 P HCF R LM BTAT g1

a) 455 b) 125 c) 605

Answer: (c)
Explanation:

5 120, 75, 40
24,15, 20

HCF=5
LCM of 120, 75, 40 (120, 75, 40 T LCM)

5 |120,75,40
60,75, 20
30, 75, 10
15,75, 5
5,25,5

5 [1,1,1
LCM = 600

Sum / J19T = 600 + 5 = 605 Ans

U WININ

42. Convert 560 dag and 600 g into mg.

560 ST 31X 600 ITH B! AU A 9 |

a) 6200 mg b) 620000 mg c) 62000 mg

a) 6200 AT b) 620000 fHETE  ¢) 62000 eI

Answer: (d)
Explanation: 560 dag
1 dag = 10000 mg
560 x 10000
= 560000 mg
www.wedacareer.com
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1g = 1000mg

600 x 1000 = 600000
5600000 + 600000

= 6200000 mg

560 fa

1871 = 10000 fHeiomH
560 x 10000

= 560000

1g = 1000mg

600 x 1000 = 600000
5600000 + 600000

= 6200000 THERIH

43. What is the product of (-1)2 and (-1)37?

(-1)? 3R (-1)*” BT UGS T 8?2
a) -37 b) -1 c)1 d) 37
Answer: (b)

Explanation: (—1)? x (-=1)¥" =1x -1 = -1

44. A motorist at a speed of 65 km/hr covers a distance in 4 hours and 24 minutes. Find the distance
covered.

TS HieX I1aF 65 fordlt/er &) 1fd & 4 69 3R 24 fFie ® ver g 70 o1 g1 99 3t 18 gt
I Q|

a) 320km b) 225km c) 368km d) 286km

Answer: (d)
Explanation: S = 65 km/h

. 24 _ 2
T—4h24m|nutes—4+5— S
=44+ 0.4

=44h
D=SXT=65x%X4.4=286km

B S = 65 fopdi/der
T=a9eufire-4+2=2
= 4404

=44h
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D=SxT=65Xx 4.4 =286 foH

45, Find the length of a train which crosses a bridge of 160m in 18 sec at a speed of 54 km/hr.

TP YIS D T3 J1d DIoTe o 54 forei/eer &t 1fd & 160 Hiex o Ya &1 18 AHs T IR
CIGikd

a) 110m b) 200m c) 220m d) 120m

Answer: (a)

Explanation: D = Length + 160 m
T=18sec

S =54 km/h =54 x(5/18) = 15 m/sec
=15 m/sec

D=SXT

x+160 =15x%x18

x4+ 160 =270

x=270—-160

x =110

D = TS + 160 HIeX
T=18qdhs

S = 54 fopdi/der

= 15 fpHl/Adhs
D=SxT
x+160 =15 x 18
x + 160 = 270

x =270 — 160

x =110

46. Name the angle which is more than 180° and less than 360°.

IE BIVT IA15T Sl 180° A 3P dYUT360° A BT B

a) Straight Angle b) Complete Angle c) Reflex Angle d) Obtuse Angle
a) ST HIOT b) gui HIoT ¢) ufdad BT d) 31 B
Answer: (c)

47. The length of a rectangle is increased by 20% and breadth is decreased by 20%. What will be its
effect on its area?
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T 3ITAd B! TaTS 20% T <1 STl 8 3R ST 20% °eT &Y STl 8 1 SHPT IHP &P d U T
U UST?

a) Increased by 4% b) Increased by 20%
c) decreased by 4% d) Decreased by 20%
a) 4% @1 3fx b) 20% BT (G

c) 4% P HHI g8 d) 20% 1 HH!
Answer: (c)

Explanation: Let the length be 100 units and breadth be 100 units
Original area = 10000 units

New length = 100 + [(20/100) x 100] =120

New breadth = 100 — [(20/100) x 100] = 80

Area =120 x 80 = 9600

Change in area = (400/10000) x 100 =4 %

SITEIT: ATAT oI&TS 100 3h1s 3R 1SS 100 315 §
T 81Tl = 10000 $hTS

TS IeTS = 100 + [(20/100) x 100] = 120

=TS TisT$ = 100 - [(20/100) x 100] = 80

&Y%l = 120 x 80 = 9600
&% H IRade = (400/10000) x 100 = 4 %

48. Arrange the following into ascending order:

frafifed ®t emrRIg 0 & saafRa s

45900, 45999, 45990, 45090, 45909

a) 45090<45900<45909<45990<45999 b) 45909<45990<45999<45090<45900
¢) 45999<45990<45900<45909<45990 d) 45999<45990<45909<45900<45090
Answer: (a)

49. What is the sum of CMVIIl and DXLV?
CMVIII 3R DXLV BT IRT R &2
a) 1453 b) 1560 c) 1455 d) 1553

Answer: (a)
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THE WINNING EDGE

~—— DEFENCE ——

Explanation: CMVII|
(1000 - 100) + 8 =908
DXLV

500 + (50 — 10) + 5 = 545

Sum/ J1T = 908 + 545 = 1453

50. If the product of two fractions is 15/14. If one of the fractions is 3/7, then what is the other
fraction?

gfe 3t Al ST UFwa 15/14 31 AR ST A tar U 3/7 8, A gt Ria s 2
a)7/4 b) 12/7 ¢)5/7 d) 5/2

Answer: (d)

Explanation: Let the number be a,

3 15
_Xa:_
7 14
15 7

a= X
4 3

1
5
2

a

AT ICATa g,

3 15
=xXa==
7 14
_ 157

T 1473
5

a=-=

2

a

SUBJECT - ‘B’ : HINDI

forger (w27 51 & 55) IGATA Y LAATASF Tot & a1g A1 € 710 weat & 3a< o

39 WOR # 41 € WaFo 7¢1 g1 U Y Yo wag At gt sfawrw waw ¢ ueiee &
AT AT HedoT A g Aae ara afFaat 1 s it 9 @ sar g1 5 cafFaat
F AT Fad UTHAT §, 3T Yiaser FARA AE @ @ 3 f f I §, SR
AT AT A 7 A § 3N 30F FA0T & AT FH 39T AP AT &1 Sl a4
f Fago TA 3¢ R F S & A, B 3 Fla & R FE A0 A @S w@wt f
qST A FaT, afed gud F AT i aret i g g B

51. fars & ¥ Rraehr qom wda ¢t @l 32
a) W b) &t c) Hgl afad d) 3TH ¥ FIg =g
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3TR: (b)

52. freT AeTsal Y WeT UG T@T AT B2

a) AT HoAT0T Hled dlel T b) Tarft &r
c) &=ir T d) e
3ITR: (a)

53. fharehr gfaser F TR €7 AT FaT 87

a) ST 3e¢T TATS FHedToT ¢ b) TSieTehT 3eged INET I TEIAT el &
c) ToITaT 38820 AT eAeld &l & d) 3WIed J & IS o8r

ITR: (0)

54. e vt &Y go @it ¥7

a) Tardt fr b) i & forw ey arelt
c) &= &Y d) g &
JW: (b)

55. HOR & Wago FA 7 A 24w §2

a) 9T HI b) TATST FHeAToT I ) FATT Hr d) 3TH & FIg =g
3TX: (a)

31 (.3 56- 59) 1 aTa a1 Wsg AYE & forg, fow 71w faweul & & SRa W w1 gAE H1
56. St STl 1 ST HP

a) forifT b) 31T c) oI d) 3RTI
IT: (b)

TAFIHROT: ORI ST = 571 ¥eh' aTediey & ford A1efes 2eg § — 3o

57. SraETHIE TS B

a) T b) TP ¢) ST d) STy
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3TR: (d)

TPIBRT: [T BIs A1 8] - 3T
58. Thep B IATIT W a1l SIAAR

a) TR b) AR c) 3 d) gD
3TR: (o)

59. fra a9 # srH® foban 2

a) T T 3 b) T8 (THT RIR GeTara 8

o %% Ugdl § d) T TS TERT STt e §
gTR: (a)

TPIHT: fhaTU G IRE B &l § - hHP 3R AHHD:
gpH fopar

iR H forg fohar & TRt § 1 B 30T Il ©, IU ThHD 10601 hod 5, ThHD 1ohdT | fohdT P
mzraﬁﬁgmm%ﬁﬁ-Qﬂ?ﬂﬁﬁaw,lﬂﬁm:ﬁd?w%,fﬂquﬁ%

areg H fSr foba o i 7 &4 i 3r0an T8l gicll, IY e o1 e €. 3ebrih fobar H e
}@mﬁmm%waw%mw%wwm% SERT TS § AT XE

60. 3iaf¥er 1 yafgard e & -

a) S, 3BT b) G, TR ¢) §HR, TWH d) gu, Riguy
3TR: (a)

THHROT: SdRe BT TaFar! - G, AYHsd, THHSd, SThRHSd|

61. ATATE" &1 YATgard! T8l 8-

a) dSM b) I} ) J&h d) dsi

J: (d)

THHRT: IS & 3T TATIard] §- TRIAR, STARM, W, Tohy, URaR], STaaH, TR, ard |
62. g # | #19-91 T1eg ' 3iT 1 watuar! 781 82

a) & b) T ¢) @G d) €1
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3TR: (o)

WSIHROL: oifg — &Y, aifer, T, 9, fadiieT, 98, @re, offdr, 39, ofews, &1
63. fRm w1 adf -

a) BB ATXDHAT  b) fage ) TR ESE]
3R: (a)

64. TS BT gY TG T T TSt A w7 2

a) Y T b) SEIUH 1 ITG BT ) WIS BT d) 1 81el BT
IW: (d)

TSIHRL: 'So! DT Y TG AT HT el 3 TR 8T g1 ¢ | 37 fddhed TG |
65. "THHTT HERT HeTar HT Ae! 34 8-

a) 31 fom b) SR DI ARG o) B BIAAGAT  d) il BT AR
IW: (b)

TFHROT: UHAT TR HETaR &1 3 Bldl - Jad 81 UHHE HRINT a1 Jad|
66. UTeRt BT AT | T FUUTT § -

a) et Teret b) RrgTieH SEIEEE d) e faresn
3R: (b)

67. ST Udtem & Siiof 1 g1-

a) 3(afd b) 3T ¢) 3fitof d) SRIHA
3T (o)

68. BT & T ga- aTeT & T TP eg FT g

a) YTl b) 3T o) I d) BT

3R: (b)

TPIBRT: ST & I I dTelT & ford Teb oG ST BT &
69. "X P AT I F T TH A=< B -
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a) gRadlt b) Mg ¢) &I TWT d) gt
gTR: (a)

frd=T (W, 9. 70-71) ® 3T 7T I3[ Rreql & T Y[ Xeql BT T4 PiforQ|
70. TR

a) RIS b) TR o) ufe d) R
IR (d)

71. ER

a) AIER b) TR o) faraier d) ferdierR
I (b)

72. TEISER BT HATH-fIUE 8-

a) XIS BT R LWL H MW ¢) TS ARW d) IR P
SR: (b)

THHIOT: TS F AT R = TSR | TgT WIS Id Ug 7 3R TR IW IS ¢

73. '3fUPR ' & H1 A1 I @ g2

a) 3y b) 3y ¢) 3 d) siferep

IW: (b)

74. BETEN &1 9 fawsg S

a) BET + I b) BT+ AT ) OF + 3" d) B + a9
3T (o)

75. 3R FINRT I B TS|

ORRLIG] b) fAwmifdalysd o) GRREYS d) fopar-fa=iwor
IW: (b)

wPeeor: 5 argl & fidt o=y Sreq & gRT WGRM, g9, gom, 31yd 3¢ & UG Iad g, S
m?amaﬁﬁ%ﬁwﬁ@wﬁwﬁ%mﬁmwmﬁ%lmﬁwﬁﬁw
|

www.wedacareer.com




THE WINNING EDGE

— DEFENCE —

SUBJECT - ‘C’ : GENERAL KNOWLEDGE

76. Who wrote our National song?

FHRT I M foaa ferar?

a) Bipin Chandra Pal b) Swami Dayanad Saraswati
c) Bankim Chandra Chatterjee d) Rabindranath Tagore

a) faft= 9 Ut b) TTH! SIS TGl

c) §fcpH I Tesh d) XY TR

Answer: (c)

Explanation: Bankim Chandra Chatterjee wrote the national song of India ‘Vande Mataram’. It is a poem
written in Sanskrit.

SifcpH < Il A HRA BT AP M 'de AR feren | I8 Wpd H forgdl 718 Hidar g

77. The oldest Veda in the world is?

a) Sama Veda b) Yajur Veda

c) Rig Veda d) Atharva Veda
a) JaT b) TS

c) BAG d) 3fyddg
Answer: (c)

Explanation: Rig Veda is the oldest text in the world and therefore it is known as ‘the first testament of
mankind’.

Fidc [y BT I YR T~ § 3R 3T 38 'HIM ST BT UUH JEIdHHT S8l Sidl g |

78. First Individual Olympic medal winner from Independent India is?

T T YR BT UGl AfRITA MafUd U fasar 1 82

a) Rajyavardan Singh rathore b) K.D. Jadhav

c) Abhinav Bindra d) Neeraj Chopra
a) Ioga e Rig TS b) Sl STEd

c) 31fa faigT d) RS AusT
Answer: (b)

Explanation: K.D. Jadhav, after winning a bronze medal in wrestling at the 1952 Helsinki Olympics,
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became the first Individual Olympic Medal winner from Independent India. However, the first individual
Olympic medal was won by Abhinav Bindra.

1952 & golTAeh! 3eITieh & Rl H HIET Ugeh SHicel o Te; hal SITUd TAdT R & Tgol FfFdard
3 e fAsiar a7 | &Telifeh, oIl A TFdaTd 3l Tueh Ueeh 31TRaIa fagr = Sirar am|

79. Who among the following is the Supreme Commander of Indian Armed Forces?

a) President of India b) Vice President of India
c) Defence Minister of India d) Finance Minister of India
a) HRd & PUfd b) HRd & JWRIFUFd

c) HIRd o & HAl d) HRd o faa wat
Answer: (a)

Explanation: The president is the Supreme Commander of the Indian Armed Forces. The Indian Armed
Forces comprises three divisions i.e. Indian Army, Indian Navy and Indian Air Force.

YT HRCIT YR Sl o Faled HHS § | HRAF JR Feil H i FSaiter Ha § srufd yRdig
ol T, YR AT 3R HR<Tg arg I

80. The motto of the Indian Air Force is:
87 RATT IR TT BT TSR AT B

a) Nabha: Sparsha Diptam b) Sarvatra Sarvottama Suraksha
c) Valour and Wisdom d) Touch the sky with glory

a) TH: TR iy b) TA A JRET
¢) dRelm 3R gfaHa d) TR 3 T SHTGHM B Gl

Answer: (d)

Explanation: The motto of Indian Navy — May the Lord of the Water be auspicious unto us
The motto of Indian Army — Service before self

The motto of Indian Airforce — Touch the sky with glory

HRAN T BT 3SR T — of oA g%oT
YR Y1 D1 TR AT - " Ffe f3R det” (Fa9d Jam)

AR aTg AT T T aTery — A8T: T &eas]
81. Who is the present Chief of Indian Army?
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HORGR AT & TAHH TG B 82
a) Gen.Upendra Dwivedi b) Gen.Manoj Pande c) Gen.Anil Chauhan  d) Gen.A.K.Singh

a) STeTCeT 3U+G GIAdET b) TeRATA UG c) STokel A ABH  d) STolel T

Answer: (a)

82. __isthe highest peak of Africa.

T drEeR S A

a) Mt. Everest b) Mt. Denali c) Mt. Kamet d) Mt.Kilimanjaro
a) A3 TaEC b) AT3C SaiTell c) AT3C HIAT d) AT3¢ fRferASIRY
Answer: (d)

Explanation: Situated in Northern Tanzania close to the Kenya border, Mt.Kilimanjaro — also known as
‘the roof of Africa’. The height of Mt.Kilimanjaro is 5895m.

FHgT WTHAT & P 3T dollaaT H AT §, A3 Biod@eRy - '3kt 1 &d' & & H HY =7 SArdr
g A3 fRfoHeRT $r Fars 5895 #Hiex g

83. The Taj Mahal is located on the banks of which of the following rivers of India?

FoToed YRd &1 fFafifed A A fra Tl Fac wfR@ g

a) Ganga b) Yamuna c) Godavari d) Cauvery
a) T b) TG c) Merast d) TR
Answer: (b)

Explanation:

e The Yamunais the largest tributary of the Ganges.

e It comes from the Yamunotri Glacier at Bandarpunch Peak, Uttarakhand.

e It crosses Haryana and parts of Uttar Pradesh, and after that, it touches Uttarakhand and Delhi, and
joins Chambal, which is the longest tributary with its own large basin.

o THATTI &) Yo SS] WS el &.

o TEITRIGS & §eye dIe! R YT TR WR-R F S1ar |

o TE BTN 3R IR TS & $S T DI IR Il §, 3R 3D ale IS AR el HY Flt
8, 3R I o iy STt 8, S oo 98 AR & 1y wad el Jgrds el g

84. Which one of the following is not a draught animal?
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Sqfifed & A B 91 U sRares og 181 &7

a) OX b) Donkey c) Horse d) Sheep
a)§d b) TT&T ¢) TSt d) 9IS
Answer: (d)

Explanation: Sheep is not a draught animal. Elephant, camel, horse, ox and donkeys are included in the
category of draught animals also known as pack animals. These animals are used in agriculture and for
transport purposes.

VS U YRGS U -Tal 5| Bft, Sre, TeT, 9 SR 18 YRaTg s ugait &t 9ot & 311d § forg U Uy
1t 5T ITAT1 8 | 7 TFaR] &1 ITANT HY 3R uRas- Il & forg fpar sirar |

85. Blue Revolution is related to which of the following?

Yol wifa frafafea o 9 feaa ddfta 32

a) Fish production b) Edible oil production
c) Milk production d) Jute production

a) AS I b) WTE dd TG

c) ¥ 3l d) ¥c 3dlad
Answer: (a)

Explanation:

e Green Revolution — Food grains (rice and wheat)
e Grey Revolution — Fertilizers production

e White Revolution — Milk production

e Red Revolution — Meat or tomato production
e Golden fiber Revolution — Jute production

e Silver Revolution — Egg/ poultry production

e Black Revolution — Petroleum production

e Blue Revolution — Fish production

. B wifd - | (@mad 3R Tg)

o A I~ IRD IATGH

o 4d Hifd - gY @G

o TId Shifd - HIY I THICR SdIG

. GO XA Hifd - e IdTe

o oI Shifd - ST/ ST

. DI Bifd — USHrad e

o e sifd - Al Sare
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86. Which of the following is not a mosquito borne diseases?

SufifRad & @ 1 a1 e S A T8 22

a) Malaria b) Dengue Fever c) Sleeping sickness d) Filariasis

a) AT b) STTIER o) a3 d) Brsaig

Answer: (c)

Explanation: Sleeping Sickness is not a mosquito-borne disease. It is a tropical disease, which is caused
by trypanosomes, a parasitic protozoan. It is transmitted by the bite of the tsetse fly.

forgr T TR wfHd S T 81 T8 T Sueiestiy SARY 8 o AN Ame wReid!
TICISII3MT & HRUTEI! 8 | I8 A HRdl b Hled J badl gl

87. Which is the largest gland in human body?
#;-T9 IR A g9 TS Uy P A 32
a) Pituitary gland b) Liver c) Stomach d) Lungs

a) U Ui b) IPhd c)Uc d) e

Answer: (b)

Explanation: The pituitary gland or hypophysis is the smallest gland in the human body. The pancreas is
the largest endocrine gland in the body. The liver is the largest gland in the human body. It is also the
largest (internal) organ in our body.

fieget 7 o1 SRUIth R HHd IRR &1 T DI 3 g1 3RATR TRR & Jay go Sid:-Fmat Uy
21 I%hd AHd TR Bt T4 T1 U ¢ | T8 THR IRR T I T3T (HTdRap) 3T i g

88. Which of the following is a non-communicable disease?

cyfafaada I 91 TR-FARY T %?

a) Measles b) Cancer ¢) Malaria d) Tuberculosis
a) IR b) HER c) AaRan d) & T

Answer: (b)

Explanation: Communicable diseases — HIV/AIDS, viral hepatitis, sexually transmitted infections,
Dengue, Corona virus, etc.

Non-communicable diseases — heart disease, stroke, Cancer, Diabetes and Chronic Lungs diseases

AR AT - T3/, aRRE gUCIg ey, T TaTRd WehHUT, ST, HRIFT arERy, 3fe |
TR-TRY I - T AT, Wb, AR, AYHE 3R SIab1cid hihg &b INT
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89. Which is the highest mountain peak of Himalaya in India?

a) Nanda Devi b) Bandarpunch c¢) Kanchenjunga d) K2
a) FaT ! b) SexUT c) Ao d) 2
Answer: (c)

Explanation:

e Nanda Devi— 7816 m (Uttarakhand)
e K2 (Godwin Austin) — 8611 m (POK)

e Kanchenjunga — 8586 m (Sikkim)

e Bandarpunch-6316 m (Uttarakhand)

o Haradl- 7816 HieR (STRRIS)
o K2 (TTSfa 3HReH) — 8611 HICR (POK)
o IO - 8586 HIcR (RifadpH)
o SUD - 6316 Ui (ITRIES)

90. Where is Nalanda University situated?

AoTerer fayfaerey i fRud 82

a) Sikkim b) Gujarat c¢) Uttar Pradesh d) Bihar
a) RifaemH b) TORTd ¢) STR UG d) fagR
Answer: (d)

Explanation: Nalanda was the world's first residential university, accommodating over 10,000 students
and 2,000 teachers, and was a major center for Buddhist studies as well as subjects like astronomy,

medicine, logic, and mathematics.427 CE # sITeigl EJ%I'«’ZIT F Ygell ET favafaeare ar,
fSraa 10,000 & 319w oy 3R 2,000 Rets A, IR ey 3vwwad & TU-AYy @od
fa=irer, Rifehear, a& 3R a1foa S fawat &1 v 9a9@ g |

91. Earth rotates along direction.

ch_mnﬁqq?ﬂ%l

a) East to West b) South to North c) North to South d) West to East
a) 4 9 U3\ b) GIATT ¥ JTR ¢) IR I Glam d) afgm A gd
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Answer: (d)

Explanation: Earth rotates on its axis from west to east. This rotation causes the Sun, Moon, and other
celestial objects to appear to move across the sky from east to west.

The Earth's rotation also causes day and night. The Earth's rotation divides the Earth into a lit-up half
and a dark half.

The Earth's rotation is counterclockwise when viewed from the North Pole, and clockwise when viewed
from the South Pole.

The Earth's rotation continues due to inertia, which is an object's resistance to changes in its current
state of motion.

gl 379eT Y3 o) IREH & qd T 3T gA &1 56 FOT & HROT G, TAT AN 37 @aiel fs
3THIRI I & TRIH BT 3R A §U I 81 &

gt & gaeT O 3T T 3R T g &1 2t 7 gute et @ gemifRie 3 3R 3R e 7 fenford
AR

3T Y A W TR Gl hT gUT arATa 3R STaTol ¢ & S@e W efaivTae giar ¢ |

gl T EOTT ST5cd & SROT SIRY el &, it fehdlT & T arfct sht et eufa & gRad & g
EICRES

92. ‘Tarapur’ nuclear power plant is located in the state of?
ARTYR WRHTY] Sl wad foh Iea # fRra 82
a) Maharashtra b) Gujarat c) U.P. d) Tamil Nadu

a) HERTY b) ORI c) U.P. d) ATy

Answer: (a)

Explanation:
e Kakrapar atomic power station — Tamil Nadu

e Narora atomic power station — U.P.

e Kaiga atomic power station — Karnataka

e Rawat Bhata atomic power station — Rajasthan
e Tarapur atomic power station — Maharashtra
Kudankulam atomic power station — Tamil Nadu

o HIDHRIIR IRHTY[ 3ol WM — AT
o TRRTURHIY] 3ol T — IR U

o I TRHTY Holf W — HHICH

o XTad HICT URHTY] 3ol WM — ST
o TRIYR WA Holl LR - HERTY

o HSIHAH WA Sl W - AHATG

93. Where is the Ozone layer present?
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I IR FET HISG 82

a) Mesosphere b) thermosphere c) Stratosphere d) Troposphere
a) TRIRGRR b) YRR c) IHdTT Hed d) &vHsd
Answer: (c)

Explanation: Most Ozone (about 90 %) is found in the Stratosphere, which begins about 10-16
kilometers above Earth’s surface.

5 layers of the Atmosphere in order:

e Troposphere

e Stratosphere
e Mesosphere
e Thermosphere

Exosphere
a@wmahﬁh?(mweo%)wmﬁqﬁw%Gﬁqﬁﬁw%aﬂmlomﬁo—dﬁiﬂa
SR YE Bl &
a@q@'aaﬁsqv?fm

&y ded
. THA™ dEd
. HEHHSA
o dUHSA
. dfgdea

94. Which state among the following has adopted Sanskrit as its one of the official languages?

Frafafad d 3 fra v A Tvpd ot sru- il W & U & Sru=mn 82

a) Uttar Pradesh b) Jharkhand c¢) Uttarakhand d) Punjab
a) TR UG b) IRTS ¢) SAS d) goTa
Answer: (c)

Explanation: The state of Uttarakhand has become the first state in India to declare Sanskrit as an
official language. In 2019, Himachal Pradesh became the second state to have Sanskrit as the second
official language.

ITRIGS AT WFd ! SMABIRG U1 YT B T HRA BT Ul Isd & 1T g1 2019 H,
feTTad USRI TP d Dl GO SHTIBTRE TN §IH a1 GERT ST & 74T

95. The Brain fever which affects young children is

B T DI YU HIA aTdT AfRTsh sav gl
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a) Malaria b) Tuberculosis c) Typhoid d) Encephalitis

a) Hafar b) & IAT CELIES] d) 3B arsieq

Answer: (d)

Explanation: Encephalitis is a brain fever that affects young children. It causes inflammation of the
membranes that surround the brain and spinal cord.

TABARCY e AT SaR § Sl Bic gl Pl GHITAd $dl 3| I8 HRIwD 3R ¢ I g8l & IR

3R &1 frfeeral & Yo BT HRUT AT 5 |

96. The first Indian to get the Oscar Award was .

TR RIPR UM d1d g HRATT P A2

a) Raj Kapoor b) Bhanu Athaiya ¢) V.S. Naipaue d) Minir sen
a) XS PR b) HT 32T c) dh.u9. Argur d) RS9
Answer: (b)

Explanation: Bhanu Athaiya became the first Indian to win an Academy Award in 1983 for designing the
costumes for the movie Gandhi.

wﬁﬁg%w%ﬁﬁmmiﬂé?mamﬂm%amaﬂﬁwmmmﬁﬁaﬁmuﬁﬁ
YR &

97. Which river of India is known as ‘Sorrow of Bengal’?

YRA B DI A Ad] T BT P & A9 A ST AT g2

a) Ganga b) Yamuna c) Damodar d) Hoogly
a) T b) IGAT ¢) QMG d) giTelt
Answer: (c)

Explanation: River Damodar is known as ‘Bengal’s Sorrow’ because of its ravaging floods in the plains of
West Bengal. ‘Sorrow of Bihar’ is in Kosi.

TR Il BT UEH e & B ST & 3 aTell fIRIB R} 91 & HRUT €T B Al Bl
S| fSeR &1 WM BRI A B

98. The crops which are sown in summer season called?
W g & 5 9F 9Tel U B FT Hed 82

a) Kharif b) Zaid c) Cash d) Rabi
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a) T b) TG ¢) The d) T&it

Answer: (b)

Explanation: Zaid crops are mainly grown in the summer season from March to June.
e Rabi crops — wheat, barley, oats, gram, mustard, linseed. Kharif crops- rice, maize, millet, ragi,

pulses, soybean, groundnut.
e Kharif crops - rice, maize, millet, sugarcane, ragi, pulses, soybean, groundnut, etc

SIS, o1 thd g U 9 T & A 7 A1l § S aeb S8 ol |
. & B - NE, O, 918, T, R, SRR - Iad, AT, SoRT, I, grel, e,
il

99. Which is the largest tribal group of India?

YR BT TG TST TSI THE I 91 8?

a) Bhil b) Gond ¢) Gurjar d) Santhal
a) Hia b) e ) TR d) JUTed
Answer: (a)

Explanation: The Bhil tribe's population in 2011 was 17 million people. In some states, the Bhil
population was:
e Madhya Pradesh: 4,618,068, making up 37.7% of the state's total Scheduled Tribal (ST)
population
e Gujarat: 42.70 lakhs, making up 47.89% of the state's ST population
e Rajasthan: 4,100,264
e Tripura: 3,105

2011 & $ier STefonfal &I Siereear 17 Afeae | $o T3t § siie Seraear o
o HEY FCRT: 4,618,068, TsT H Fel A SeAoliad (THAL) T T 37.7% &l
o IORIA: 42.70 &G, S I I THE €T T 47.89% &
o TSEUE: 4,100,264

. ﬁgTr: 3,105
100. The study of Moon is called?
UGHT & T B FIT T o1l 52
a) Selenology b) Cosmology c) Planetology d) Pedagogy
a) Qe b) ST fasT o) 7 faqm d) Rememea
Answer: (a)
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Explanation: The study of Moon is called Selenology. Gravitational pull of the Moon is about 1/6™ of the
Earth and it takes 1.3 seconds for light to reach the Earth from the moon.
Cosmology — The scientific study of the large-scale properties of the Universe as a whole.

AGHT & 3T DI Ja-Iarel Bl AT & | IGAT BT TeQAIHYU RdTd Gedl BT AT 1/641 fgwa 8
3R YBTR ) oA A Jed a9 e 1 1.3 WS T JHY a8 |
SENUS a9 - Truf 5RIUS & 5 THM & 707 &1 dF1i-idh 37eqg |

SUBJECT - ‘D’ : INTELLIGENCE

101. Find the missing term: 1800, 1760, 1720, 1680, ?
YW UG [Td DIOIT: 1800, 1760, 1720, 1680, ?
a) 1640 b) 1620 c) 1630 d) 1650

Answer: (a)
Explanation: 1800 -40 = 1760 -40 = 1720 -40 = 1680-40 = 1640

102. Find the missing term:1, 4, 9, 16, 25, 36?
ol UG F1d B3: 1, 4, 9, 16, 25, 362
a) 64 b) 49 c) 81 d) 121

Answer: (b)
Explanation: 12, 22, 3%, 4%, 5%, 6%, 7%

103. ‘A’ is B’s father but B is not A’s son. Who is B?

‘A, B BT UAT 8 AfPa 8, ABT TS 81 B BT R?

a) Daughter b) cousin c¢) daughter-in-law d) wife
a) 9 b) TERT 4TS ) S8 d) udll
Answer: (a)

Explanation: B is daughter of A.

B, A A g

104. The man is related to house in the same way the bird related to-
oI 1R SiTeH WY A Wafia § St R ueh fraw dafta 32

a) cave b) nest c) tent d) water
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a) T b) TiGar c) I d) arit

Answer: (b)
Explanation: The man lives in the house. The bird lives in the nest.

3MreHt wR o gar 7 | fafear aivd o et 3|
105. Complete the following analogy: Flood : drought:: genius: ?

Frafafed aex R 9 g@r : ufaur: »

a) Foolish b) Intelligence c) Think d) cruel
a) T8 b) gf& ¢) | d) B
Answer: (a)

Explanation: In each pair, both the words are antonyms of each other.

TS Site! # g Ueg U gUR & A g

106. Complete the series: MM, NN, OO, PP, ?

YT YUl B+ MM, NN, 00, PP, ?

a)QQ b) RR c) DD d) ss

Answer: (a)
Explanation: MM +1=NN+1=00+1=PP+1=QQ

107. In a queue Shashank is 7t" from the either end. How many boys are in the queue?
TP HAR U RMP g1l BR I 74 RIM R 3| FaR A fhaq ds& 82
a) 12 b) 14 c)13 d) 15

Answer: (c)
Explanation: Number of boys in a queue = 7+7-1 =13

HAR H ASHI P G-AT = 7+7-1 =13
108. At the time of sun set Rishika is facing north. Her shadow will be towards-

U & UG BB SR B 30T g HIP W1 8 | 3P ST {59 i grft

a) South b) North c) East d) West

a) Gf&rm b) ST ogd d) ufgH
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Answer: (c)
Explanation: At the time of sun set, the shadow of an object is always in the east.

TSYBRT: YU & G bl ag 1 31 ¥ed gd § ugdl 3|

109. Choose the word which least like the other words in the group.

T8 TIeg T ol TE P 3T Vgl | T HH fraar Jaan gl

a) PEEL b) FRY c) BAKE d) ROAST
a) BT b) T&T ¢) Yapr d) Y=
Answer: (a)

Explanation: Except ‘peel’ all requires heating.

I DI BISHR I1b! H BT TH B DI HIWHAT Bl g |

110. which of the following diagram indicates the best relation between flower, lily, jasmine

FPrufufad & @ o1 91 oM B, Rreh, T8 & S veaw o7 9y gufar s

a) b)

(20
o000 N am
Answer: (a)

111. If ‘A’ means add, ‘B’ means ‘subtract’, ‘C’ means multiply and ‘d’ means divide, then what would
be the answer of the equation?

afe 'a' &1 3 SisT, B &7 3 ger T, ‘¢ F1 3 un FHRAT 3R o BT 4 YT R, @
HHI BT BT IR RTENT?

20D4C2A4
a) 12 b) 14 c) 18 d) 17

Answer: (b)

Explanation: 20 + 4 x 2 + 4 (according to question)
(20/4)x2+4=5x2+4=14
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112. If CATTLE is related to HERD then LION is related to : CATTLE: HERD :: LION : ?

s e ghe A Wi § A AR oo e 2 7R s 1 WK

a) SWORM b) FLOCK c) MOB d) PRIDE
a) BH b) gS o s d) UTSS
Answer: (d)

Explanation: A group of cattle is called nerd. Similarly, a group of Lion is called pride.

TR & TG ) S Bed &1 U RE IR & THE Bl WSS B ¢

113. If in a certain code DEAF is written as 3587 and FILE is written as 7465 then IDEAL will be written

as?

gfe foredt fAfa $1e o DeEAF DY 3587 3R FILE B 7465 for@T SITdT @ oY IDEAL &1 6 YR fora
SITET?

a) 43586 b) 63548 c) 43568 d) 48536

Answer: (a)

Explanation: D=3,E=5,A=8,F=7

F=7,1=4,L=6,E=5

So,1=4,D=3,E=5,A=8,L=6

114. Choose the correct alternative that has the same relation to EPV as BMJ is to EPM

gt faweu g4 st epv A I HaU T BMIBTEPM A B

BMJ :EPM :: EPV:?

a) DNM b) HSY c) HSW d) GTV
Answer: (b)

Explanation:

E+3=H B+3=E

P+3=S M+3=P

V+3=Y J+3=M

115. Find the missing term: 15: 225 :: 21: ?
W UG [T DITOIT: 15: 225:: 21: ?
a) 441 b) 421 c) 431 d) 451

Answer: (a)
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Explanation: Square of 15 is 225
Similarly, square of 21 is 441.

15 RTII 225 F
s YR, 21 ST IV 441 &

116. If in a certain code BRL is coded as DTN then MBS will be coded as?

gfe fpft ffera s A BrL B DTN for@T SiTaT @ ) MBS B fovd YR ferar siraem?

a) OCU b) ODU c) OEV d) ODN
Answer: (b)
Explanation: B+2 =D M+2=0

R+2=T B+2=D

L+2=N S+2=U

117. If x stands for addition, =+ stands for subtraction then 4 x 8+~ 5="7?

g xBTAT NG, x P A g Tg dlax8: 5=2
a)4 b) 8 c)5 d)7

Answer: (d)

Explanation: 4 x8 = 5
Changing sign,4+8—-5=7
4x8+5

g e |, 4+8-5=7
118. In a certain code ARTICLE is coded as ATRCILE. How is PICTURE coded in that code?

T AIf3a &S # ARTICLE BT ATRCILE for@T STaT 81 St ®I8 # picTURE &) 5T YR ferar
SITET?

a) PIERTUC b) CIPTURE c) PRTIEUC d) PCIUTRE

Answer: (d)

Explanation:

ARTICLE

v WX Yy
ATRCILE

Similarly, PICTURE = PCIUTRE
ﬁw, PICTURE = PCIUTRE

119. Choose the OPTION which is different from the rest
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9% faeeu g ol 911 9 3T @

a) Pencil b) plate c) book d) pen
a) URra b) W c) T d) Had
Answer: (b)

Explanation: Except plate all are stationary items.
e B DeH gl R a5 g
120. Two positions of a dice are shown below. If 1 is at the top what number will be at the bottom?

= ve uE 3 G fRufaat gwifE 7€ 81 afe 1 999 SR @ o 99 R ® d S=m gt

a)2 b) 3 c)5

Answer: (c)
Explanation: When both 6 and 4 are in same position in the cubes, 5 should be opposite to 1.

ST UTH 6 3R 4 1 U &1 FRURAH 8, Y 5, 1 P fausia g =nfguy

121. Find missing number?

d) 6

o =T [T DY ?
12 18 30 16_ 32 40 36_ 18 27
6 8 ?
a) 18 b) 6 09 d) 12

Answer: (c)
Explanation:

a \b|/c
X
X=H.C.F.(a, b, c)
Required number = H.C.F. (36, 18, 27) =9
3T T¥AT = HCF (36, 18,27) =9
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122. How many rectangles are there in the given figure?

3t € anrepfa ® foraa smaa 872

a)4d

Answer: (b)

b)5

c)6 d)3

Explanation: There are 5 rectangles in the given figure.

fer T T & 5 3maa &

123. Choose the correct water image of the given question image from amongst the four alternative:

o T aR fawenl & | few ¢ wy for &1 98 o1a o g

X]

i<

<]

(] [

a) (a)

Answer: (d)

124.

)

b) (b)

(e

c) (c) d) (d)

:_ﬁjcﬂ%

b DID

a) (a)

Answer: (a)

(&)

b) (b)

c) (c) d) (d)

Explanation: In each step, the figure is rotated by 45° and 90°alternately.
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TAS IRUTH, 3BT Bl IR1-TR F 450 3R 90° GHIT ST 5 |
125. Select one of the answer figures which replaces the mark of interrogation?

T g & VI R 3 a1 IR MGl | A Th BT 997 B2

Question Figures

Al: [ :[@]:>
Answer Figures

[
(@] [=] [@] [@

(@ (h) © ()

a)(a) b) (b) c) (c) d) (d)

Answer: (b)
Explanation: The outer element of the first figure is removed while the inner elements are shaded to
obtain the second figure.

Ugal 3B & S16<T dd PI gl ol T § Jaich gkl SMpd Uk & & e HidRas dedl ol
Bifhd [haT T g
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